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Q1) A) multiple choice questions. (Any 5) [5]

a) _____ is document which provide details about project overall
status and its performance.

i) Project Report

ii) Memo

iii) Office Order

b) _____ is a free mobile messaging application, massively used for
messaging and voice calls.

i) WhatsApp

ii) Twitter

iii) YouTube

c) _____ is a formal complaint about any unsatisfactory product,
service or situation.

i) Complaint Letter

ii) Sales Letter

iii) Order Letter

P.T.O.
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d) ______ is a frequently updated web page used for personal
commentary or business content.
i) Blog
ii) Google Sheet
iii) Google Classroom

e) _______ is a formal letter written to confirm the list of items you
would like to purchase.
i) Order letter
ii) Sales letter
iii) Inquiry letter

f) ______ is a social networking site that makes it easy for you to
connect and share with family and friends online.
i) Facebook
ii) Google Form
iii) Google Classroom

B) Match the following. [5]
Group ‘A’ Group ‘B’

a) Formal Report i) Piece of news send out to
public

b) Cisco Webex meeting App ii) Inbox
c) Sales Letter iii) Attract Potential Customer to

your product of service
d) E-mail iv) Online meeting & Team

messaging
e) Press Release v) Annual Report

Q2) Write short notes. (Any 2) [10]

a) Office Memo

b) Video conferencing

c) Collection Letter

d) Elements of Mail
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Q3) a) What is ‘Report’? State essential elements of Report Writing. [8]

b) What is Internet? Explain in detail advantages and disadvantages of
internet. [7]

Q4) a) Write a complaint letter on behalf of ‘Ram and Son, Bajirao Road, Pune
to the Manager ‘Nashik General Stores’ G.M. Road, Nashik about the
defects in products. [8]

b) Write the Meaning of ‘Blog’? Explain in detail about how to write a
Blog. [7]

eeee



Q1) A) Fill in the blanks with the appropriate term from the given options
(Any five) : [5]

i) Under ________ goodwill is recorded which is arising from
amalgamation.
(Purchase Method, Amalgamation Method, Pooling of Interest)

ii) Profit included in the closing stock is known as ______ .
(Accumulated Profit, Capital Profit, Unrealized Profit)

iii) In consolidated balance sheet Holding Company’s share of revenue
profit / loss is adjusted to ________.
(Profit & Loss A/c, Goodwill, Minority Interest)

iv) Municipal Taxes are ________ creditors.
(Preferential, Secured, Unsecured)

v) _________ has access to lot of sensitive financial information of
the organization.
(Financial Accountant, Management Accountant, Forensic Accountant)

vi) One of the important sources of raising funds in the event of a
company’s liquidation is _________ of the company.
(called up capital, uncalled capital, subscribed capital)

vii) __________ is a financial forensic engagement.
(Mortgage Fraud, Dispute, Breach of trust)
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B) State whether the following statements are True or False (any five)
[5]

i) In winding up of a company a liquidator is responsible to repay
capital to shareholders up to the full amount of market value of the
shares held by them.

ii) A forensic accountant uses interviews and leveraging techniques
designed to elicit sufficient information to prove or disapprove a
hypothesis.

iii) Unrealised profit is calculated on goods sold by holding company
included in closing stock of subsidiary company.

iv) The willful act of stealing someone’s identity for monetary benefits
is called Identity Theft.

v) Minority Interest shown in the consolidated balance sheet is the
equity held by the holding company in the subsidiary company.

vi) Forensic Accounting is sometimes referred to as Forensic Auditing.

vii) A new company has not been formed in case of absorption.

C) Match the following : [5]

      Group A        Group B

i) Forensic Accounting a) Net-Asset Method

ii) Revenue Profit b) By Court

iii) Compulsory winding up c) List H

iv) Purchase Consideration d) Money Laundering

v) Deficiency Account e) After the date of acquisition of
shares

D) Write Short Notes (any three) : [15]

i) Objectives of Forensic Accounting

ii) Compulsory Winding up

iii) Payment basis method

iv) Examples of Forensic Accounting

v) Minority Interest
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Q2) The Balance Sheet of Rajnish Ltd. As on 31st March 2024 was as follows.[20]
Balance Sheet

As on 31st March 2024
                    Liabilities Amount

Share Capital
2000, 8% Preference Shares of A 100 each fully paid 2,00,000
4,000 Equity shares of A 100 each A 80 paid. 3,20,000
6,000 Equity shares of A 100 each A 70 paid. 4,20,000
8% Debentures (having floating charges on all assets) 2,00,000
Debenture Interest Payable 8,000
Sundry Creditors 3,20,000

14,68,000
                 Asstes Amount

Goodwill 2,24,000
Land and Buildings 4,36,000
Plant and Machinery 1,80,000
Furniture 20,000
Office Equipment 40,000
Stock 1,98,000
Debtors 1,70,000
Bills Receivable 44,000
Cash in Hand 16,000
Profit & Loss 1,40,000

14,68,000
The Company went into voluntary liquidation as on that date.
a) Preference Dividend was in arrears for last three years and as per the

articles, it was to be returned before returning Equity Capital.
b) Sundry Creditors include a Loan of A 80,000 secured on the hypothecation

of Plant and Machinery and Preferential Creditors of A 20,000.
c) The liquidator realised the assets as follows:

Land and Buildings A 4,30,000
Plant and Machinery A 1,00,000
Office Equipment A 25,000
Furniture A 16,000
Stock A 1,40,000
Debtors A 1,20,000
Bills Receivable A 28,000
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d) Legal charges on liquidation amounted to A 2,000. The liquidation
expenses were A 5,200.

e) There was a typewriter which was completely written off from the books
of accounts, but the liquidator sold it for A 1,000 which was not included
in the office Equipments mentioned above.

f) The liquidator’s remuneration was fixed at A 2,000 plus 2% on sale of
assets, plus 4% on the amount distributed to unsecured creditors.

Prepare the Liquidator’s Final Statement of Account if the amounts were paid
on 1st July 2024

Q3) The following are the Balance Sheets of H Ltd. and S Ltd. as on 31st March
2024. [20]

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd.
Amount Amount Amount Amount

Share Capital : 5,00,000 2,00,000 Goodwill 30,000 10,000

Shares of A 10 each Machinery 3,66,000 1,36,000

General Reserve 75,000 -- Stock 90,000 45,000

Protit & Loss A/c 71,000 30,000 Debtors 1,47,500 61,500

Creditors 91,000 43,500 Cash 17,500 13,500

Bills Payable 10,000 -- Investments 96,000 --

(12,000 shares of
S Ltd. at cost)

Bills Receivable -- 7,500

7,47,000 2,73,500 7,47,000 2,73,500

Additional Information :

a) H Ltd. Acquired the shares of S Ltd. on 1st April 2023.
b) The Profit and Loss A/c of S Ltd. Showed a debit balance of A 10,000

on 1st April 2023.
c) Included in the Stock of S Ltd. are goods of A 10,000 which were

supplied by H Ltd. at cost plus 25%.
d) The Bills Payable in H Ltd. represented A 7,500 included in favour of S

Ltd.
Prepare Consolidated Balance Sheet and necessary working notes.
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Q4) The Financial position of Jagdish Ltd. Jalgaon as on 31.03.2024 disclose the
following position. [20]

Balance Sheet as on 31 March 2024

Liabilities Amount Assets Amount

Share Capital Property Plant and Equipment
Issued, Subscribed and Called Up Capital: Freehold Property 49,000
728 Eq. Sh. of A 100 each fully 72,800 Workshop Plant 38,500
Called and paid up Equipments 7,000

Current Assets

General Reserve 15,960 Stock in Trade 34,300
Revenue Profit 32,900 Book Debts 17,780
Current Liabilities Cash 8,960
Trade Payable 12,810 Preliminary Expenses 5,460
Trade Creditors 18,760
Expenses Payable 7,770
Total 1,61,000 Total 1,61,000

Jagdish Ltd. was absorbed by Suraj Ltd., Shirpur on the following terms and
conditions.
a) Jagdish Ltd. paid expenses of liquidation amounting to A 2,800.
b) Suraj Ltd., agreed to take over all the assets and liabilities of Jagdish Ltd.

at the book value except Freehold Property A 52,500 Workshop Plant
A 36,400 and Stock-in- Trade A 42,700.

c) Jagdish Ltd. agreed to write off Preliminary Expenses completely against
its unutilized Free Reserves.

d) Suraj Ltd. discharged the purchase consideration by allotment of 840
shares of A 100 each at 125 per share and the balance in cash.

You are required to prepare necessary ledger accounts in the books of Jagdish
Ltd. and pass the acquisition entries in the books of Suraj Ltd.


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Q1) A) Fill in the blanks (any five) [5]

i) Dr. Fisher introduced the quantity theory of money in ______

(1910, 1911, 1912, 1919)

ii) ______ is an example of direct tax.

(GST, Service Tax, Income Tax, Seles Tax)

iii) The duration of the phases of the trade cycle is ______

(same, different, law, more)

iv) When too much money chasing to few goods it’s called _____

(deflation, inflation, value of money, credit creation)

v) In the stage of _______ the velocity of money decreases.

(prosperity, depression, recession, revival)

vi) The scope of public finance does not include the following ____

(tax, public expenditure, monetary policy, public debt)

P.T.O.
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B) Match the following pairs [5]

Group - A Group - B

i) Phase of trade cycle a) Fiscal Measures

ii) Tax b) Public Borrowing

iii) Quantitative creadit control c) MV = PT

method

iv) Fiscal measures d) Open market operation

v) Fisher e) Recession

f) M = KPY

Q2) Explain the quantity theory of money. [15]

Q3) What is inflation? Explain the causes of inflation. [15]

Q4) What is trade cycle? State the characteristics of trade cycle. [15]

Q5) What is public debt? State the importance of public debt. [15]

Q6) Write short notes on (any three) [15]

a) Balance budget

b) Public finance

c) Direct Tax

d) Trade cycle

e) Demand full inflation


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) Cd©[aV àíZ H«$. 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) S>m°. {’$ea ¶m§Zr n¡emMm MbZ, g§»¶m‘mZ {gÕm§V ............. ‘Ü¶o ‘m§S>bm.

(1910, 1911, 1912, 1919)

ii) ............ ho àË¶j H$amMo CXmhaU Amho.

(GST, godmH$a, àmárH$a, {dH«$sH$a)

iii) ì¶mnma MH«$mÀ¶m Q>ßß¶m§Mm H$mbmdYr ............... Amho.

(g‘mZ, {^Þ, H$‘r, A{YH$)

iv) O|ìhm AË¶m{YH$ n¡gm AË¶§V H$‘r dñV§yMm nmR>bmJ H$aVmo, V|ìhm Ë¶mg ........... Ago
åhUVmV.

(MmbZg§H$moM, MbZ{dñVma, n¡em§Mo ‘yë¶, nV{Z{‘©Vr)

v) .............. AdñWoV n¡emMm ^«‘U doJ H$‘r hmoVmo.

(VoOr, ‘§Xr, AngaU, nwÞê$‚mrdZ)

vi) gmd©O{ZH$ Am¶ì¶¶m‘Ü¶o Imbrbn¡H$s ................ g‘mdoe hmoV Zmhr.

(H$a, gmd©O{ZH$ IM©, ‘m¡ÐrH$ YmoaU, gmd©O{ZH$ H$O©)

PC1018
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~) Imbrb OmoS²>¶m Owidm : [5]

JQ>-A JQ>-~

i) ì¶mnmaMH«$mMm Q>ßnm A) {dÎmr¶ Cnm¶

ii) H$a ~) gmd©O{ZH$ H$O©

iii) n[aUm‘H$maH$ {dÎm {Z¶§ÌU nÕV H$) MV = PT

iv) amOH$mofr¶ Cnm¶ S>) Iwë¶m ~mOmamVrb H$O© amoIo IaoXr {dH«$s

v) {’$ea B) ‘§Xr

’$) M = KPY

à.à.à.à.à.2) n¡emMm MbZ g§»¶m‘mZ {gÕm§V ñnï> H$am. [15]

à.à.à.à.à.3) ^mddmT> åhUOo H$m¶? ^mddmT>rMr H$maUo ñnï> H$am. [15]

à.à.à.à.à.4) ì¶mnmaMH«$ åhUOo H$m¶? ì¶mnmaMH«$mMr d¡{eï>ço gm§Jm. [15]

à.à.à.à.à.5) gmd©O{ZH$ H$O© åhUOo H$m¶? gmd©O{ZH$ H$Om©Mo ‘hÎd gm§Jm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) {ebH$sMo A§XmOnÌH$

~) gmd©O{ZH$ {dÎm

H$) àË¶j H$a

S>) ì¶mnma MH«$

B) ‘mJUr VmU{Z{‘©V ̂ mddmT>


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Q1) A) Fill in the blank with the most appropriate alternative (any five) [5]

i) ___________ is a function of management that helps to check
errors and take corrective actions.

(Control, Organise, Delegate, Direction)

ii) ____________ is a business model that helps a company be socially
accountable to itself, its stakeholders and the public.

(Strategic responsibility, Business Planning, Corporate social
responsibility, Enterprise Manufacturing)

iii) __________ leadership is a style in which the leader has complete
control and makes all decisions.

(Autocratic, Democratic, Laissez-faire, Coaching)

iv) ___________ is a process of inducing and stimulating an individual
to act in certain manner.

(Planning, Coordination, Motivation, Teamwork)

v) Disaster management is a process of effectively preparing for and
responding to ______.

(relocation, disasters, change, threats)

vi) Management of Change is a systematic approach to dealing
with________.

(boundaries, disasters, organizational change, systems)

P.T.O.
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B) Match the following: [5]
          Column A               Column B

i) Fear a) William Ouchi

ii) Rewards b) Pioneered by Mahatma Gandhi

iii) Trusteeship concept c) Operating system upgrade

iv) Z Theory d) Negative motivation

v) Technological change e) Positive motivation

Q2) Explain the meaning of the term motivation and its importance. [15]

Q3) What is Leadership? Explain the functions of a leader. [15]

Q4) What is Control? Explain its need. [15]

Q5) What is Corporate Social Responsibility? Explain the social responsibility of a
business. [15]

Q6) Write a short note (any three) [15]
a) Maslow’s Need Hierarchy Theory

b) Leadership styles

c) Characteristics of Coordination

d) Management of Change

e) Corporate Governance


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244 : BUSINESS MANAGEMENT - II
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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 A{Zdm¶© Amho.

2) àíZ H«$. 2 Vo 6 ‘Yrb H$moUVohr Mma àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) .............. ho ì¶dñWmnZmMo EH$ H$m¶© Amho Oo ÌwQ>r VnmgÊ¶mV Am{U gwYmamË‘H$ H¥$Vr
H$aÊ¶mg ‘XV H$aVo.

({Z¶§ÌU, g§KQ>Z, à{V{ZYr, {Xem)

ii) ............... ho EH$ ì¶dgm¶ ‘m°S>ob Amho Oo H§$nZrbm ñdV:bm, Ë¶mÀ¶m ^mJYmaH$m§Zm
Am{U OZVobm gm‘m{OH$[aË¶m O~m~Xma amhÊ¶mg ‘XV H$aVo.

(ñQ´>°Q>o{OH$ [añnm°pÝg{~{bQ>r, {~PZog ßb°qZJ, H$m°nm}aoQ> gmoeb [añnm°pÝg{~{bQ>r, E§Q>aàmBO
‘°Ý¶w’°$³M[a¨J)

iii) ............... ZoV¥Ëd hr EH$ e¡br Amho Á¶m‘Ü¶o ZoË¶mMo nyU© {Z¶§ÌU AgVo Am{U Vo gd©
{ZU©¶ KoVmV.

(Am°Q>moH«°${Q>H$, S>o‘moH«°${Q>H$, bogoP-’o$¶a, H$moqMJ)

iv) ........... hr EImÚm ì¶º$sbm {d{eï> nÕVrZo H$m¶© H$aÊ¶mg àd¥Îm H$aÊ¶mMr Am{U
CÎmo{OV H$aÊ¶mMr à{H«$¶m Amho.

({Z¶moOZ, g‘Ýd¶, àoaUm, Q>r‘dH©$)

v) AmnÎmr ì¶dñWmnZ hr ................. gmR>r à^mdrnUo V¶mar H$aÊ¶mMr Am{U à{VgmX
XoÊ¶mMr à{H«$¶m Amho.

(ñWmZm§VaU, AmnÎmr, ~Xb, YmoHo$)

vi) ~XbmMo ì¶dñWmnZ hm ................. er ì¶dhma H$aÊ¶mgmR>r EH$ nÕVera Ñï>rH$moZ
Amho.

(gr‘m, AmnÎmr, g§KQ>ZmË‘H$ ~Xb, àUmbr)

PC1019
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~) Imbrb OmoS²>¶m Owidm : [5]

JQ>-A JQ>-~

i) ^rVr A) {dë¶‘ AmoMr

ii) ~{jgo ~) ‘hmË‘m Jm§Yr nwT>mH$ma KoVbm

iii) Q´>ñQ>r{en g§H$ënZm H$) Am°naoqQ>J {gñQ>‘ AnJ«oS>

iv) PoS> {WAar S>) ZH$mamË‘H$ àoaUm

v) Vm§{ÌH$ ~Xb B) gH$mamË‘H$ àoaUm

à.à.à.à.à.2) àoaUm ¶m eãXmMm AW© Am{U Ë¶mMo ‘hÎd ñnï> H$am. [15]

à.à.à.à.à.3) ZoV¥Ëd åhUOo H$m¶? ZoË¶mMr H$m¶o} ñnï> H$am. [15]

à.à.à.à.à.4) {Z¶§ÌU åhUOo H$m¶? Ë¶mMr JaO g‘OmdyZ gm§Jm. [15]

à.à.à.à.à.5) H$m°nm}aoQ> gmoeb [añnm°pÝg{~{bQ>r åhUOo H$m¶? ì¶dgm¶mMr gm‘m{OH$ O~m~Xmar ñnîQ> H$am. [15]

à.à.à.à.à.6) EH$ N>moQ>r {Q>n {bhm. (H$moUË¶mhr VrZ) [15]

A) ‘mñbmoMm JaO nXmZwH«$‘ {gÕm§V

~) ZoV¥Ëd e¡br

H$) g‘Ýd¶mMr d¡{eï>ço

S>) ~XbmMo ì¶dñWmnZ

B) H$m°nm}aoQ> JìhZ©Ýg





Q1) A) Fill in the blanks (Any 5) : [5]

i) As per company Act-2013, Every Listed company should have
minimum ________ women as director.

(1, 3, 5)

ii) The first Directors of a company are appointed by the _________.

(Sharholders, Promoters, Government)

iii) ______ is the full form of CSR.

(Corporate Service Responsibility Corporate Social Responsibility,
Company Social representative)

iv) The company must give a clear _______ day’s Notice to its member
for culling the general meeting.

(14, 21, 30)

v) E-Governance is also known as ________ Governance.

(Electronics, Eco-friendly, Economy)

vi) In order to pass a special Resolution, more than ________
percentage of votes are required.

(50, 60, 75)

Total No. of Questions : 6]
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B) Match the following : [5]
Group - A Group - B

i) Director a) Minutes
ii) Corporate Social b) Year - 2000

Responsibility
iii) Resolution c) Formal Decision of meeting
iv) Written Report of the meeting d) Representatives of Shareholders
v) In formation Technology Act. e) 2% of NET profit

Q2) ‘Define’ Director’. Explain the various powers and Duties of Directors. [15]

Q3) Define ‘Company secretary’. Explain the role & duties of company secretary.
[15]

Q4) What do you mean by meeting? Explain the various types of meetings. [15]

Q5) What do you mean by ‘Winding up of a company? Explain methods of winding
up of company. [15]

Q6) Write short notes (Any 3) : [15]

a) Legal position of Directors.

b) Corporate social Responsibility

c) Types of Resolution

d) Importance of E-Governance

e) Priority order for payment of liability at the time of Liquidation.


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(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) àíZ H«$. 1 Am{U àíZ H«$. 6 A{Zdm ©̀ Amho.

2) àíZ H«$. 2, 3, 4 Am{U 5 `m n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>o {Xbobr g§»`m nyU© JwU Xe©dVmV.

PC-1020

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) … [5]

i) H§$nZr H$m`Xm - 2013 Zwgma, ^mJ ~mOmam_Ü ò Zm|XUr Pmboë`m àË òH$ H§$nZr_Ü ò
{H$_mZ ............ _{hbm g§MmbH$ Agbo nm{hOoV.

(1, 3, 5)

ii) gmd©O{ZH$ H§$nZrÀ`m n{hë`m g§MmbH$m§Mr {Z ẁº$s ........... H$Sy>Z Ho$br OmVo.

(^mJYmaH$, àdV©H$, gaH$ma)

iii) CSR Mo nyU©ê$n gm§Jm.

(Corporate Service Responsibility, Corporate Social
Responsibility,  Company Social Representative)

iv) gd©gmYmaU g ôMr gyMZm .............. {Xdg AmJmoXa nmR>{dUo Amdí`H$ Amho.

(14, 21, 30)

v) B©-JìhZ©Ýgbm .................. JìhZ©Ýg Agohr åhQ>bo OmVo.

(BboŠQ´>m°ZrH$, BH$mo-\«o$S>br, BH$moZm°_r)

vi) {deof R>amd g§_V hmoÊ`mgmR>r ............ Q>ŠŠ`mnojm OmñV _Vm{YŠ`mMr JaO
AgVo.

(50, 60, 75)
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~) `mo½` OmoS>çm bmdm … [5]
A JQ> ~ JQ>

i) g§MmbH$ A) B{Vd¥Îm
ii) H§$nZrMr gm_m{OH$ O~m~Xmar ~) gZ - 2000
iii) R>amd H$) g ôMm Am¡nMm[aH$ {ZU©̀
iv) g ôMm boIr d¥Îmm§V S>) ^mJYmaH$m§Mo à{V{ZYr
v) _m{hVr V§ÌkmZ H$m`Xm B©) {Zìdi Zâ`mÀ`m 2%

àíZ àíZ àíZ àíZ àíZ 2) g§MmbH$mMr ì`m»`m {bhm. g§MmbH$m§Mo A{YH$ma Am{U H$V©ì` g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) H§$nZr {MQ>UrgmMr ì`m»`m Úm. H§$nZr {MQ>UrgmMr ŷ{_H$m Am{U H$V©ì` ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) g^m åhUOo H$m`? g^m§Mo {d{dY àH$ma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) H§$nZrMo g_mnZ åhUOo H$m`? g_mnZmÀ`m {d{dY nÕVr ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) … [15]

A) g§MmbH$mMo H$m`Xoera ñWmZ

~) à_§S>i gm_m{OH$ CÎmaXm{`Ëd

H$) R>amdmMo àH$ma

S>) B©-JìhZ©Ýg²Mo _hËd

B) H§$nZrÀ`m g_mnZmÀ`m doir XoUr naVH$aÊ`mMm H«$_





Q1) A) Fill in the blank with the most appropriate alternative. (any Five) [5]

i) A Breach of contract can be of ______ breach.

(Discharge, Illegal, Void, None of these)

ii) Productivity = _______

(Input/Output, Output/Input, Input - Output, Output-Input)

iii) —— environment is within the control of the business.
(Internal, External, Micro, Macro)

iv) A ______ is not a Strategic Alliance.

(Joint marketing Campaign, Cooperative product development, Joint
Venture, merger)

v) Whenever the address of the registered office of the company
changes or the office is shifted, the same has to be reported to the
Registrar within __________ days from the date of shifting.

(15, 30 , 60, 45)

vi) Strategy is derived from _______

(Policy, Objectives, Method, Rule)
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B) Match the pairs : [5]
Group - A Group - B

i) Factory Act a) Long term contract between private
parties and Government

ii) Company Act b) 1969
iii) NPC c) National Productivity Council
iv) Public private partnership d) 2013
v) Monopolistic and e) 1948

Restrictive Trade Practice
Act

Q2) Write a Short Note (Any two) [10]
a) Registration process of Business
b) ISO-9000
c) Components of Business Strategy
d) Advantages of Outsourcing

Q3) a) Explain the Legal Aspects required to start a business. [8]
b) What is productivity? Explain the importance of productivity. [7]

Q4) a) Explain the various steps in Developing Business Strategies. [8]
b) Explain the Advantages and Disadvantages of Public - Private Partnership.

[7]

♦♦♦
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) H$amamMm §̂J hm ......... Mm §̂J XoIrb Agy eH$Vmo.

(A§_b~OmdUr, ~oH$m`Xoera, {ZaW©H$, `mn¡H$s Zmhr)
ii) CËnmXH$Vm åhUOo ................ hmo`.

(AmXmZ/àXmZ, àXmZ/AmXmZ, AmXmZ - àXmZ, àXmZ - AmXmZ)
iii) ......... n`m©daU ho ì`dgm`mÀ`m {Z §̀ÌUmV AgVo.

(A§VJ©V, ~mø, gyú_, ñWyb)
iv) ......... hr YmoaUmË_H$ ẁVr Zmhr.

(g§̀ wº$ {dnUZ _mohr_, ghH$mar CËnmXZ {dH$mg, g§̀ wº$ CnH«$_, {dbrZrH$aU)
v) Á`mdoiog H§$nZrMo Zm|XUrH¥$V H$m`m©b`mMm nÎmm ~XbVmo qH$dm Ë`m H$m`m©b`mMo

ñWmZm§Va hmoVo Ë`mdoiog ñWmZm§Va Pmboë`m {XdgmnmgyZ ...... {Xdgm§À`m AmV ̀ mMr
_m{hVr a{OñQ´>mabm Úmdr bmJVo.
(15, 30 , 60, 45)

vi) ì ỳhaMZoMr ì ẁËnÎmr hr ......... nmgyZ Pmbr Amho.
(YmoaUm, C{Õï>m§, nÕVr, {Z`_)

~) `mo½` OmoS>çm Owidm. [5]
J«wn - A J«wn - ~

i) H$maImZm H$m`Xm A) ImOJr nj Am{U gaH$ma
`m§À`mVrb XrK©H$mbrZ H$ama

ii) H§$nZr H$m`Xm ~) 1969
iii) NPC H$) amï´>r` CËnmXH$Vm n[afX
iv) gmd©O{ZH$ ImOJr ^mJrXmar S>) 2013
v) _ºo$Xmar d {Z~ªYmË_H$ ì`mnma ì`dhma B) 1948

H$m`Xm

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm (H$moUË¶mhr XmoZ) [10]

A) ì`dgm` Zm|XUrH$aÊ`mMr à{H«$`m

~) Am`EgAmo-9000
H$) ì`dgm` ì ỳhaMZoMo KQ>H$

S>) ~møómoVmWuH$aUmMo (AmCQ>gmo{gªJMo) \$m`Xo

àíZ àíZ àíZ àíZ àíZ 3) A) ì`dgm` gwê$ H$aÊ`mgmR>r Amdí`H$ Agboë`m H$m`Xoera ~m~r ñnï> H$am. [8]

~) CËnmXH$Vm åhUOo H$m`? CËnmXH$VoMo _hËd ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ì`dgm` ì ỳhaMZoÀ`m {dH$mgmÀ`m nm`è`m ñnï> H$am. [8]

~) gmd©O{ZH$ - ImOJr ^mJrXmarMo \$m`Xo Am{U VmoQ>o ñnï> H$am. [7]

♦♦♦



Q1) A) Fill in the blanks with appropriate alternative (any five) : [5]
i) __________ is a co-operative Bank.

a) Bank of Maharashtra b) Cosmos Bank
c) Bandhan Bank d) Deutsche Bank

ii) Providing Credit to the industrial sector is ________ type of
function of a development bank.
a) Financial Function b) Developmental Function
c) Enforcement Function d) Promotional Function

iii) India has ________ system of Banking system.
a) Unit Banking b) Branch Banking
c) Wholesale Banking d) Merchant Banking

iv) The Cash Reserve Ratio is an important tool of the economy's
_______ policy.
a) Treasury b) Financial
c) Monetary d) Merchant

v) According to Basel II __________ is recognised as the third pillar
of banking business.
a) Minimum Capital Requirements
b) Supervisory Review Process
c) Standardised Approach
d) Market Discipline

vi) Merchant Banks in India were started in 1967 by ________ bank.
a) State Bank of India b) Cosmos Bank
c) National Grindlays Bank d) Deutsche Bank
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B) Match the following. [5]

Column A Column B

i) Reserve Bank of India a) Local Bank

ii) Principle of Co-operation b) Minimum percentage of
commission deposits

iii) NABARD c) Banker's Bank

iv) Unit Banking d) Thrift

v) Statutory liquidity Ratio e) July 1982

Q2) Write a Short Note. (Any Two) [10]

a) Wholesale Banking

b) District Co-operative Banks.

c) Challenges before the Development Banks in India

d) Basel - III

Q3) a) Explain the structure of Co-operative banks in India. [8]

b) State the Role of Development Banks in Economic Development. [7]

Q4) a) What is Digital Banking? Explain the advantages & limitations of digital
banking. [8]

b) Explain in detail the recommendations of Narasimhan Committee I. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀ mgh Imbrb [aŠV OmJm ^am. (H$moUVohr nmM) [5]
i) ........... hr ghH$mar ~±H$ Amho.

A) ~±H$ Am°\$ _hmamï´> ~) H$m°g_m°g ~±H$
H$) ~§YZ ~±H$ S>) S>m°e ~±H$

ii) CXçmoJjoÌmbm nVnwadR>m H$aUo ho {dH$mg ~±Ho$Mo ........ àH$maMo H$m ©̀ Amho.
A) {dÎmr` H$m`© ~) {dH$mg H$m`©
H$) àdV©ZmË_H$ H$m ©̀ S>) àmoËgmhZmË_H$ H$m ©̀

iii) ^maVmV ......... nÕVrMr ~±qH$J ì`dñWm Amho.
A) EH$md`dr ~±qH$J ~) emIm ~±qH$J
H$) YmD$H$ ~±qH$J S>) àH$ëngodr ~±qH$J

iv) amoI amIrd {ZYr à_mU AW©ì`dñWoÀ`m ........ YmoaUmMo EH$ _hËdnyU© gmYZ
Amho.
A) amOH$mo{f` ~) Am{W©H$
H$) _m¡{ÐH$ S>) ì`mnmar

v) ~ogob 2 Zwgma ~±H$ ì`dgm`mMm {Vgam AmYmañV§̂  åhUyZ ......... bm AmoiIbo
OmVo.
A) {H$_mZ ^m§S>db JaOm ~) n ©̀dojH$s` nwZamdbomH$Z à{H«$`m
H$) à_m{UV Ñ{ï>H$moZ S>) ~mOmanoR>r` {eñV

vi) ^maVm_Ü ò àH$ëngodr ~±H$m§Mr gwédmV hr 1967 _Ü ò .......... ~±Ho$Ûmao Pmbr.
A) ^maVr` ñQ>oQ> ~±H$ ~) H$m°g_m°g ~±H$
H$) Z°eZb qJ«S>ob ~±H$ S>) S>m°e ~±H$

3 P.T.O.
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~) `mo½` OmoS>çm Owidm. [5]

JQ> "A' JQ> "~'

i) ^maVr` [aPìh© ~±H$ A) ñWm{ZH$ ~±qH$J

ii) ghH$mamMo VËd ~) H${_eZ R>odrMr {H$_mZ Q>ŠHo$dmar

iii) Zm~mS>© H$) ~±H$m§Mr ~±H$

iv) EH$md`dr ~±H$ S>) H$mQ>H$ga

v) d¡Ym{ZH$ VabVm à_mU B©) Owb¡ 1982

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) [10]

A) YmD$H$ ~±H$m

~) {Oëhm _Ü`dVu ghH$mar ~±H$m

H$) ^maVmVrb {dH$mg ~±Ho$g_moarb AmìhmZo

S>) ~ogob - III

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVmVrb ghH$mar ~±H$m§Mr g§aMZm ñnï> H$am. [8]

~) Am{W©H$ {dH$mgmVrb {dH$mg ~±Ho$Mr ŷ{_H$m ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) {S>{OQ>b ~±qH$J åhUOo H$m`? {S>{OQ>b ~±qH$JMo \$m`Xo Am{U _`m©Xm {deX H$am. [8]

~) Zaqgh_² g{_Vr - 1 À`m {e\$maer g{dñVa ñnï> H$am. [7]





Q1) A) Fill in the blanks (any Five) : [5]
i) ________ maintain the minutes book of a society.

a) Secretary b) Treasurer
c) Managing committee d) Registrar

ii) Admission of members and allocation of shares in a Co-operative
society is the duty of _________
a) President b) Secretary
c) General body d) Managing committee

iii) ______ Life insurance sector was nationalized.
a) 1947 b) 1951
c) 1956 d) 1959

iv) Operate indepently of competitive forces prevailing in the relevant
market is _________ component.
a) Anti-competition Agreements
b) Abuse of dominance
c) Combinations regulation
d) Competition Advocacy

v) Grivance handling machinery is given in _____
a) Industrial Disputes Act, 1947
b) Factories Act, 1948
c) Trade Union Act,1947
d) Competition Act, 2002

vi) CCI stands for _______
a) Competition commission of India
b) Competition council of India
c) Competition commerce of India
d) Competition cartel of India
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B) Match the following : [5]
i) Industrial disputes Act a) 2002
ii) Co-operative society b) April, 1947
iii) Competition Act c) one member one vote
iv) Premium d) International Labour Organization
v) ILO e) Payment made by policyholder

Q2) Write a short note (any two) : [10]
a) Types of co-operative society
b) Importance of Life Insurance
c) Rights of competition commission
d) Strike

Q3) a) What do you mean by Co-operative. Explain the features of co-operative
society. [8]

b) Explain the advantages of Life Insurance. [7]

Q4) a) Explain various definitions under competition Act, 2002. [8]
b) Explain the mechanism of disputes under Industrial disputes Act, 1947.

[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr 5) [5]
i) ............. gmogm¶Q>rMo B{Vd¥Îm nwñVH$ gm§̂ miyZ R>odVmo.

A) g{Md ~) I{OZXma
H$) ì¶dñWmnZ g{‘Vr S>) {Z~§YH$

ii) ghH$mar g§ñWoV g^mgXm§Mm àdoe Am{U ^mJm§Mo dmQ>n ........... ¶m§Mo H$V©ì¶
Amho.
A) AÜ¶j ~) g{Md
H$) gm‘mÝ¶ g§ñWm S>) ì¶dñWmnZ g{‘Vr

iii) .............. OrdZ {d‘m joÌmMo amï´>r¶rH$aU H$aÊ¶mV Ambo.
A) 1947 ~) 1951
H$) 1956 S>) 1959

iv) g§~§{YV ~mOmanoR>oV àM{bV Agboë¶m ñnYm©Ë‘H$ e³VtnmgyZ ñdV§ÌnUo H$m¶© H$aUo
åhUOo ................ KQ>H$ hmo¶.
A) ñnYm© {damoYr H$ama ~) dM©ñdmMm J¡admna
H$) g§¶moOZ {Z¶‘Z S>) ñnYm© d{H$br

v) VH«$ma {ZdmaU ¶§ÌUm ........... ‘Ü¶o {Xbr Amho.
A) Am¡Úmo{JH$ {ddmX H$m¶Xm, 1947
~) H$maImZm H$m¶Xm, 1948
H$) ì¶mnmar g§KQ>Zm H$m¶Xm, 1947
S>) ñnYm© H$m¶Xm, 2002

vi) grgrAm¶Mo {dñVm[aV ê$n ...........
A) ^maVr¶ ñnYm© Am¶moJ ~) ^maVr¶ ñnYm© n[afX
H$) ^maVmVrb ñnYm© dm{UÁ¶ S>) ^maVrMr ñnYm© H$mQ>}b

3 P.T.O.
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~) ¶mo½¶ OmoS>çm bmdm. [5]

i) Am¡Úmo{JH$ {ddmX H$m¶Xm A) 2002
ii) ghH$mar g§ñWm ~) E{àb, 1947
iii) ñnYm© H$m¶Xm H$) EH$ ì¶³Vr EH$ ‘V

iv) {då¶mMm KZm S>) Am§Vaamï´>r¶ H$m‘Jma g§KQ>Zm

v) Am¶.Eb.Amo. B) nm°{bgrYmaH$mZo Ho$bobo no‘|Q>

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr 2) [10]

A) ghH$mar g§ñWoMo àH$ma

~) OrdZ {då¶mMo ‘hËd

H$) ñnYm© Am¶moJmMo A{YH$ma

S>) g§n

àíZ àíZ àíZ àíZ àíZ 3) A) ghH$mamMm AW© gm§JyZ ghH$mar g§ñWmMr d¡{eï>ço ñnï> H$am. [8]

~) OrdZ {då¶mMo ’$m¶Xo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ñnYm© H$m¶Xçm§VJ©V {d{dY g§H$ënZm ñnï> H$am. [8]

~) Am¡Úmo{JH$ H$m¶Úm§VJ©V VH«$ma {ZdmaÊ¶m§Mr ¶§ÌUm ñnï> H$am. [7]





Q1) A) Fill in the blanks (Attempt any five) : [5]
i) In India, the co-operative societies act was passed in ________

year.
a) 1919
b) 1949
c) 1912

ii) The principle followed in a co-operative society is _______.
a) No vote
b) One man one vote
c) Multiple votes

iii) Co-operatives in India follow this type of organisational structure
________.
a) Unitary structure
b) Federal structure
c) Centralized structure

iv) Admission of members and all allocation of shares in co-operative
society is the duty of _______.
a) President
b) Secretary
c) Managing committee
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v) Maharashtra state Co-operative Societies Act was passed in the
year ________.
a) 2001
b) 1963
c) 1960

vi) The structure of co-operative is _______.
a) Two Tier
b) Three Tier
c) Unitary

B) Match the following : [5]
Part - A Part - B

i) Writing the minutes of the a) Service
meeting

ii) Objective of Co-operative b) 2013
Society

iii) Amendment in Maharashtra c) Secretary
Co-operative society Act

iv) Apex society d) Limited
v) Liabilityof the members of e) State level

Co-operative society

Q2) Write a short notes (any two): [10]
a) Co-operative sugar factories
b) Maharashtra state Co-operative societies act 1960
c) Audit of Co-operative societies
d) Procedure for Registration of multistate co-operative societies.

Q3) a) Explain the History and Benefits of co-operative legislations. [8]
b) Explain the Need and objectives of multistate co-operative societies act.

[7]

Q4) a) Explain process of membership of co-operative societies. [8]
b) Discuss on Urban Co-operative Banks. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) … [5]

i) ^maVm_Ü ò ghH$mar g§ñWm H$m`Xm .............. _Ü ò _§Oya Pmbm.
A) 1919
~) 1949
H$) 1912

ii) ghH$mar g§ñWoV ............... ho VËd nmibo OmVo.
A) H$moUVohr _V Zmhr
~) EH$ ì`{º$ EH$ _V
H$) EH$m{YH$ _Vo

iii) ^maVmVrb ghH$mar g§ñWm ................ àH$maÀ`m g§KQ>ZmË_H$ aMZoMo nmbZ
H$aVmV.
A) g§̀ wº$ aMZm
~) g§KamÁ` aMZm
H$) H|$ÐrH¥$V aMZm

iv) ghH$mar g§ñWm_Ü ò g^mgXm§Mm àdoe Am{U g_^mJm§Mo gd© dmQ>n ho ............. Mo
H$V©ì` Amho.
A) AÜ`j
~) g{Md
H$) ì`dñWmnH$s` g{_Vr

P.T.O.
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v) _hmamï´> amÁ` ghH$mar H$m`Xm ............. gmbr g§_V Pmbm.

A) 2001

~) 1963

H$) 1960

vi) ghH$mar g§ñWoMr aMZm ............ AgVo.

A) {ÛñVar`

~) {ÌñVar`

H$) EH$mpË_H$

~) OmoS>çm Owidm … [5]
"A' JQ>> "~' JQ>

i) g ôMo B{Vd¥Îm {bhrUo A) godm
ii) ghH$mar g§ñWoMo CX²Xrï> ~) 2013
iii) _hmamï´> amÁ` ghH$mar H$m`Xm H$) g{Md

gwYmaUm
iv) {eIa g§ñWm S>) _`m©{XV
v) ghH$mar g§ñWmÀ`m gXñ`m§Mo Xm{`Ëd B©) amÁ`ñVar`

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) ghH$mar gmIa H$maImZo

~) _hmamï´> amÁ` ghH$mar g§ñWm H$m`Xm 1960

H$) ghH$mar g§ñWoMo A§Ho$jU

S>) ~hþ{dY ghH$mar g§ñWm§À`m Zm|XUrMr àH«$s`m

àíZ àíZ àíZ àíZ àíZ 3) A) ghH$mar H$m`ÚmMm B{Vhmg Am{U \$m`Xo ñnï> H$am. [8]

~) ~hþ{dY ghH$mar g§ñWm A{Y{Z`_m§Mr JaO Am{U C{Ôï>o ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ghH$mar g§ñWoÀ`m gXñ`ËdmMr à{H«$`m ñnï> H$am. [8]

~) ZmJar ghH$mar ~±H$m§da MMm© H$am. [7]


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Q1) a) Fill in the blanks by choosing the proper alternative given in the bracket
(any five) : [5 × 1 = 5]
i) The ____________ method of pricing is based on the assumption

that materials which are purchased first are issued first.
(LIFO, FIFO, Weighted Average, Simple Average)

ii) ______ is a written statement containing complete information about a job
(Job Analysis, Job Specification, Job Description, Job Evaluation)

iii) ________ means translation of money wages into real terms or in
terms of commodities and services that money can buy.
(Real wages, Money Wages, Piece wages, Cash wages)

iv) A _______ is a quantitative record of receipts, issues and closing
balances of items of stores.
(Store Ledge, Bin-card, Material received note, Requisition note)

v) ______ is the systematic evaluation of the performance of an
employee on the job in terms of the requirements of the job.
(Job Analysis, Merit Rating, Job Specification, Job Rating)

vi) Just-In-Time (JIT) inventory management technique was first
developed in _________?
(America, Japan, Europe, Germany)

SEAT No. :

P.T.O.
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b) Match the following Pairs : [5]
Group A Group B

1) Job Evaluation a) Prime Cost
2) ERP b) Record of quantity &

Value
3) Wages in kind c) Payroll software
4) Store Ledger d) Scientific Approach
5) Store Location e) Popular in rural areas
6) Direct Expenses f) Worth of a job

Q2) Write short notes on any two of the following : [10]
a) Distinguish between Bin-card and Store Ledger
b) Remedial steps to minimise Labour Turnover
c) Just-In-Time Inventory Management
d) Types of Wages
e) Causes of Labour Turnover

Q3) a) The following particulars have been extracted in respect of Material –X
of Anurag ltd. Pune for the month of January 2023. [8]
1st Jan - Opening Stock –150 units @ Rs. 12 per unit
5th Jan - Purchases – 200 units @ Rs. 14 per unit
8th Jan - Issues – 250 units
12th Jan - Purchases –300 units @ Rs. 16 per unit
18th Jan - Issues – 250 units
22nd Jan - Purchases – 400 units @ Rs. 18 per unit
29th Jan - Issues – 350 units
30th Jan - Spoilage –15 units
Prepare Store Ledger Account using LIFO Method.

b) From the following particulars supplied by the personnel department of
Advent ltd. Thane. Calculate the Labour Turnover Rate using Separation,
Replacement and Flux Method. [7]
Total number of employees on 1st April 2023 2067
Number of employees left and discharged during the month 140
Number of employees newly appointed during the month 80
Total number of employees on 30th April 2023 1933
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Q4) a) A worker takes 10 hours to complete a job on daily wages and 8 hours on
a scheme of payment by result. His day rate is Rs. 30 per hour. The
prime cost material used in the products amounted to Rs. 300 and the
overheads are recovered at 100% of the total direct wages.
Calculate the factory cost of the product under : [8]
i) Piece Work Plan
ii) Halsey Premium Plan
iii) Rowan Premium Plan

b) Explain the concept of ‘Enterprise Resource Planning’. State the
advantages of ERP. [7]

♦♦♦



Q1) A) Choose the correct alternative in each of the following (Any five):
[5 × 1 = 5]

i) The long term regular movement in a time series is called as _____
a) Trend b) Seasonal variations
c) Cyclical variations d) Irregular variations.

ii) A rise in prices before Diwali is an example of ______
a) Secular trend b) Seasonal variations
c) Cyclical variations d) Irregular variations

iii) Every L.P.P. is associated with another L.P.P. is called______
a) Primal b)   Duel
c) Non - linear programming d)    None of the above

iv) The solution to a transportation problem with m- sources and n-
destinations is feasible if the no. of allocations are_______
a) mn b) m+n
c) m+n –1 d) m – n

v) If the primal problem has 3 constraints and 4 variables then the no.
of constraints in the dual problem is ______
a) 3 b) 4
c) 7 d) 12

vi) For solving an assignment problem, which method is used?
a) Least cost method b) Hungarian method
c) VAM d) MN method
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B) State whether the following statements are true or false (Any five):
[5 × 1 = 5]

i) Irregular variations are predictable in the analysis of time series.
ii) A solution x to the general L.P.P. is called feasible solution if it

satisfies non-negativity constraints.
iii) Short term fluctuations in time - series is known as seasonal variation.
iv) Every L.P.P. is associated with another L.P.P. is called the 'dual'of

the problem.
v) In transportation problem a feasible solution is said to be optimal if

the total transportation cost is zero.
vi) Assignment problem is a special type of transportation problem.

Q2) Attempt each of the following : [3 × 5 = 15]
a) Explain the concepts of additive and multiplicative models in the analysis

of time series. Compare there utility.
b) Fit a trend line to the following time series by the least square method.

Year (t) 2015 2016 2017 2018 2019
Production (yt)

(in lakh tons) 12 20 28 32 50

              Estimate production for 2022 & 2024.
c) Estimate the trend using 10% smothing constant for the following time

series.
t 1 2 3 4 5 6 7 8 9 10
yt 31 37 39 41 41 39 33 29 27 29

Q3) Attempt each of the following : [3 × 5 = 15]
a) Define L.P.P., Explain the real life situations from business where simplex

method may be used.
b) Obtain dual of the following L.P.P.

Minimize z =  x1 + 3x2 + 8x3
Subject to 8x1 +2x2 + x3 3

3x1 + 6x2 +4x3  4
4x1 + x2 + 5x3  7
x1 ,x2, x3 0
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c) Obtain the cannonical from of the following L.P.P.
Maximize Z = 16 x1 + x2

Subject to x1 +2x2 < 10
2x1 + 3x2 11
x1 +x2  4
x1, x2 0

Q4) Attempt each of the following : [3 × 5 =  15]
a) Explain the MODI method for obtaining optimal solution of given

transportation problem.
b) Obtain intial basic feasible solution using north- west corner method

for the following transportation problem.
Destination  D1 D2 D3 D4 Supply

Origin 

O1 1 2 1 4 30
O2 4 2 5 9 50
O3 20 40 30 10 20

Demand 20 40 30 10 100
Hence find the corresponding transportation cost.

c) Obtain initial basic feasible solution of the following transportation problem
by matrix minima method.

Destination  D1 D2 D3 D4 Supply
Origin 

O1 30 25 40 20 100
O2 29 26 35 40 250

O3 31 33 37 30 150

Demand 90 160 200 50

Hence find the corresponding transportation cost.
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Q5) Attempt each of the following : [3 × 5 = 15]

a) Describe mathematical model for assignment problem explain the concept
of minimization and maximization.

b) What is an unbalanced assignment problem ? How to make such problem
balanced?

c) Three different airplanes are to be assigned to handle three cargo
consignments with a view to maximize profit (in lakh rupees). The profit
matrix is given as follows:

Airplanes Cargo Consignments

C1 C2 C3

A1 1 4 5

A2 2 3 3

A3 3 1 2

Q6) Attempt any three of the following : [3 × 5 = 15]

a) Discuss long term and short term fluctuations in analysis of time series.

b) Discuss the four Components of time series.

c) Unbounded solution, basic feasible solution, alternate solution in L.P.P.

d) Balanced and unbalanced transportation problem.

e) Hangarian method to solve assignment problem.





Q1) A) Fill in the Blanks. (Any 5) [5]
i) _______ is a dynamic process of creating incremental wealth and

innovative things of value.
a) Entrepreneurship
b) Customer
c) Seller

ii) Self-help group first started from the Gramin Bank of ______.
a) Bangladesh
b) Pune
c) Japan

iii) Insurance is related to _______ sector.
a) Service
b) Primary
c) Secondary

iv) The service sector also known as the __________ sector.
a) tertiary
b) primary
c) secondary

v) _______ is the founder of Naukri.com.
a) Mr. Sanjeev Bhikchandani
b) Mr. Ritesh Agrawal
c) Mr. Radhakishan Damani
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vi) _________ development is the means of enhancing the knowledge
and skill of entrepreneurs.
a) Entrepreneurship
b) Employee
c) Customer

B) Match the following. [5]

Group 'A' Group 'B'

i) Mr. Mohammed Yunus a) Hotel

ii) Service sector b) 1991

iii) Mumbaiche Dabewale c) Self-help group

iv) Globalization d) D-Mart

v)  Mr. Radhakishan Damani e) Color coding system

Q2) Write short notes. (Any Two) [10]

a) Administrative functions of Self-Help Group

b) Service industry management

c) Mr. Sanjiv Bhikchandani

d) Challenges of Entrepreneurship Development

Q3) a) What is ‘Group Entrepreneurship’? Explain advantages and disadvantages
of Group Entrepreneurship. [8]

b) What is service sector? Explain role of service sector in national economy.

[7]

Q4) a) Discuss in detail ‘industrial contribution of Mr. Ratan Tata’. [8]

b) What is ‘Entrepreneurship Development? Explain the effects of corona
virus on Entrepreneurship. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) ........ hr dmT>rd g§nÎmr Am{U _yë`mÀ`m Zm{dÝ`nyU© Jmoï>r {Z_m©U H$aÊ`mMr J{V_mZ

à{H«$`m Amho.
A) CÚmoOH$Vm
~) J«mhH$
H$) {dH«o$Vm

ii) ñd §̀ ghmæ`Vm JQ>mMr gwédmV gd©àW_ ......... À`m J«m_rU ~±Ho$VyZ Pmbr.
A) ~m§JbmXoe
~) nwUo
H$) OnmZ

iii) {d_m ho .......... `m joÌmer g§~§{YV AmhoV.
A) godm
~) àmW{_H$
H$) Xþæ`_

iv) godm joÌ ho ........ joÌ åhUyZhr AmoiIbo OmVo.
A) V¥Vr`H$
~) àmW{_H$
H$) Xþæ`_

v) ......... ho Zm¡H$ar S>m°Q> H$m°_ Mo g§ñWmnH$ AmhoV.
A) lr. g§Ord {^H$M§XmZr
~) lr. [aVoe AJ«dmb
H$) lr. amYm{H$eZ X_mZr

3 P.T.O.
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vi) .......... {dH$mg ho CÚmoOH$m§Mo kmZ Am{U H$m¡eë` dmT>dÊ`mMo gmYZ Amho.

A) CÚmoOH$Vm

~) H$_©Mmar

H$) J«mhH$

~) OmoS>çm Owidm. [5]
JQ> "A' JQ> "~'

i) lr. _mohå_X ẁZyg A) hm°Q>ob

ii) godm joÌ ~) 1991

iii) _w§~B©Mo S>~odmbo H$) ñd §̀-ghmæ`Vm JQ>

iv) OmJ{VH$sH$aU S>) S>r-_mQ>©

v) lr. amYm{H$eZ X_mZr B©) H$ba H$moqS>J {gñQ>_

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) [10]
A) ñd §̀-ghmæ`Vm JQ>mMr àemgH$s H$m }̀ (Administrative functions of Self-Help Group)

~) godm CÚmoJ ì`dñWmnZ (Service industry management)

H$) lr. g§Ord {^H$M§XmZr (Mr. Sanjiv Bhikchandani)

S>) CÚm oOH$Vm {dH$mgmMr AmìhmZ o (Challenges of Entrepreneurship
Development)

àíZ àíZ àíZ àíZ àíZ 3) A) "g_yh CÚmoOH$Vm' åhUOo H$m`? g_yh CÚmoOH$VoMo \$m`Xo Am{U VmoQ>o ñnï> H$am. [8]
~) "godm joÌ' åhUOo H$m`? amï´>r` AW©ì`dñWoVrb godm joÌmMr ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) "lr. aVZ Q>mQ>m `m§Mo Am¡Úmo{JH$ `moJXmZ' `mda g{dñVa MMm© H$am. [8]
~) "CÚmoOH$Vm {dH$mg' åhUOo H$m`? H$moamoZm {dfmUyMm CÚmoOH$Voda hmoUmam n[aUm_ ñnï>

H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [5]

i) Green Marketing is a part of ________.

a) Service Marketing b) Relationship Marketing

c) Social Marketing d) Customer Satisfaction

ii) What is the full form of SEO

a) Social Engine Optimization

b) Search Engine Optimization

c) Social Engine Optimal

d) Search Engine Optimal

iii) There are ___________ main pillars in digital Marketing.

a) Four b) One

c) Two d) Three

iv) The limitations of E- Marketing is __________.

a) The inability to touch and feel

b) Instant cash payment

c) Touch and fees

d) Immediate delivery
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v) Extension of Marketing activities across the globe is called as
________.
a) Universal Marketing b) International Marketing
c) International Business d) Universal business

vi) ________ is the use of the internet, Mobile device, social media,
search engine and other channels to reach customers.
a) Social Media Marketing b) International Marketing
c) Green Marketing d) Marketing

B) Match the following : [5]
Column - A Column - B

i) Online Marketing a) 24 × 7
ii) Plastic ban b) E- Marketing
iii) Facebook c) Green Marketing
iv) Increasing Import-Export d) Social Media Marketing
v) Digital Marketing e) International Marketing

Q2) Write a short note (any two): [10]
a) Strategies of Green Marketing
b) Online and Offline Marketing
c) Affiliate Marketing
d) Benefits of International Marketing.

Q3) a) What is Green Marketing? Explain the importance of Green Marketing.
[8]

b) Explain utility of E-Marketing in India. [7]

Q4) a) Explain difference between Traditional Marketing and Digital Marketing.
[8]

b) What is International Marketing? Explain the forces restraining of
International Marketing? [7]





[6315]-213 3

Total No. of Questions : 4]

[6315]-213
S.Y. B.Com.

246(H) : MARKETING MANAGEMENT - II
(2019 Pattern) (CBCS) (Semester - IV)

(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>o {Xbobr g§»`m nyU© JwU Xe©dVmV.

PC-1027

àíZ àíZ àíZ àíZ àíZ 1) A)A)A)A)A) [aH$må`m OmJm ^am. (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am. (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am. (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am. (H$m oUË`mhr nmM) …[aH$må`m OmJm ^am. (H$m oUË`mhr nmM) … [5]

i) h[aV {dnUZ hm ............. Mm EH$ ^mJ Amho.

A) godm {dnUZ ~) aoboeZ{en {dnUZ/g§~§{YV {dnUZ

H$) gm_m{OH$ {dnUZ S>) J«mhH$ g_mYmZ

ii) SEO Mo nyU© ê$n .......... ho Amho.

A) gmoeb B§{OZ Am°pßQ>_m`PoeZ

~) emoY B§{OZ Am°pßQ>_m`PoeZ

H$) gmoeb B§{OZ BîQ>V_

S>) emoY B§{OZ BîQ>V_

iii) {S>{OQ>b {dnUm§Zm_Ü ò ................ _w»` ñV§̂  AmhoV.

A) Mma ~) EH$

H$) XmoZ S>) VrZ

iv) ................ B©-{dnUZmÀ`m _`m©Xm AmhoV.

A) ñne© Am{U AZŵ dÊ`mg Ag_W©Vm

~) Ëd[aV amoI no_|Q>

H$) ñne© Am{U ewëH$

S>) VmËH$mi {dVaU

P.T.O.
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v) OJ^amVrb {dnUZ {H«$`mH$bmnm§À`m {dñVmambm ............. Ago åhUVmV.

A) OmJ{VH$ {dnUZ ~) Am§Vaamï´>r` {dnUZ

H$) Am§Vaamï´>r` ì`mnma S>) gmd©{ÌH$ ì`dgm`

vi) J«mhH$m§n ª̀V nmohmoMÊ`mgmR>r B§Q>aZoQ>, _mo~mBb {S>ìhmBg, gmoeb _r{S>`m, emoY B§{OZ
Am{U BVa M°ZobMm dmna H$maUo åhUOo .............. hmò .

A) gmoeb _r{S>`m {dnUZ ~) Am§Vaamï´>r` {dnUZ

H$) h[aV {dnUZ S>) {dnUZ

~)~)~)~)~) `mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm …`mo½` OmoS>çm bmdm … [5]
aH$mZm A> aH$mZm ~

i) Am°ZbmBZ {dnUZ A) 24 × 7
ii) ßb°pñQ>H$ ~§Xr ~) B-{dnUZ
iii) \o$g~yH$ H$) h[aV {dnUZ
iv) Am`mV {Z`m©V dmT> S>) gm_m{OH$ àgma_mÜ` {dnUZ
v) {S>{OQ>b {dnUZ B©) Am§Vaamï´>r` {dnUZ

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ)WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ)WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ)WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ)WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) h[aV {dnUZmMo ì ẁhaMZm

~) Am°ZbmBZ Am{U Am°\$bmBZ {dnUZ

H$) g§b¾ {dnUZ

S>) Am§Vaamï´>r` {dnUZmMo \$m`Xo

àíZ àíZ àíZ àíZ àíZ 3) A) h[aV {dnUZ åhUOo H$m`? h[aV {dnUZmMo _hËd g_OmdyZ gm§Jm. [8]

~) ^maVmVrb B©-{dnUZmMr Cn ẁº$Vm ñnîQ> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) nma§nm[aH$ {dnUZ Am{U {S>{OQ>b {dnUZ_Yrb \$aH$ ñnï> H$am. [8]

~) Am§Vaamï´>r` {dnUZ åhUOo H$m`? Am§Vaamï´>r` {dnUZmda n[aUm_ H$aUmao KQ>H$ gm§Jm.
[7]





Q1) A) Fill in the blanks (attempt any Five out of 6) : [5]
i) Farm management deals with ________.

a) Judicious Decious
b) Use of scarce resources
c) Profit maximization and family satisfaction
d) All of the above

ii) Production functions refers to  _________.
a) The input output relationship in the process of production
b) The technological impact
c) The technology and other resources in operation
d) The production method

iii) Storage function creates ______.
a) Form utility b) Possession utility
c) Time utility d) Place utility

iv) Industrial Development Bank of India established in _________.
a) 1964 b) 1965
c) 1966 d) 1967

v) What is authorised capital of SIDBI?
a) Rs.100 Crore b) Rs.500 Crore
c) Rs.750 Crore d) Rs.1000 Crore

vi) Productivity =
a) Input/output b) output/input
c) output-input d) Input-output
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B) Match the following : [5]
A               B

i) Productivity a) Land, Labour, Capital
ii) Agriculture b) Foreign Direct Investment
iii) ADR c) Latin Word
iv) FDI d) USA
v) Factors of Production e) Out-put perman-hour of labour

Q2) Write a short note on (any 2 out of 4) : [10]
a) Management of Farm Input and Output
b) Farmer Produces Organisation
c) State Finance Corporation
d) Industrial efficiency

Q3) a) Explain the meaning and objectives of Farm Management. [8]
b) Explain the nature of Risk and Uncertainty in Agriculture. [7]

Q4) a) State the sources of Industrial Finance. [8]
b) Explain the factors affecting on Industrial Productivity. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (ghm n¡H$s H$moUË¶mhr nmM) [5]
i) eoVr ì¶dñWmnZ ................ er g§~§{YV Amho.

A) Ý¶m{¶H$ {ZU©¶
~) Xþ{‘©i gmYZm§Mm dmna
H$) Z’$m dmT> Am{U H$m¡Qw>§{~H$ g‘mYmZ
S>) ¶m n¡H$s gd©

ii) CËnmXZ ’$bZ åhUOo ................
A) CËnmXZ àH«$s¶oV AmXmZo Am{U àXmZo ¶m§Mm g§~§Y
~) Vm§{ÌH$ à^md
H$) CËnmXZm‘Ü¶o V§ÌkmZ Am{U BVa ñÌmoV
S>) CËnmXZ nÕV

iii) gmR>dUyH$ H$m¶} .............. V¶ma H$aZo.
A) ê$n Cn¶w³VVm ~) Vmã¶mV KoÊ¶mMr Cn¶w³VVm
H$) H$mi Cn¶w³VVm S>) ñWi Cn¶w³VVm

iv) ^maVr¶ Am¡Úmo{JH$ {dH$mg ~±H$ ................ ‘Ü¶o ñWmnZ H$aÊ¶mV Ambr.
A) 1964 ~) 1965
H$) 1966 S>) 1967

v) grS>~r (SIDBI) Mo A{YH¥$V ^mJ ^m§S>db {H$Vr Amho?
A) ê$. 100 H$moQ>r ~) ê$. 500 H$moQ>r
H$) ê$. 750 H$moQ>r S>) ê$. 1,000 H$moQ>r

vi) CËnmXH$Vm =
A) BZnyQ>/AmD$nyQ>> ~) AmCQ>nyQ>/BZnyQ>
H$) AmCQ>nyQ> - BZnyQ> S>) BZnyQ> - AmCQ>nyQ>

3 P.T.O.
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~) OmoS>çm Owidm. [5]

       A               ~

i) CËnmXH$Vm A) ŷ‘r, l‘, ^m§S>db

ii) eoVr ~) naH$s¶ WoQ> Jw§VdUyH$

iii) E.S>r.Ama (ADR) H$) boQ>rZ eãX

iv) E’$.S>r.Am¶ (FDI) S>) ¶w.Eg.E.

v) CËnmXZ KQ>H$ B) l‘ àVr ‘Zwî¶ Vmg CËnmXZ

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (Mma n¡H$s H$moUË¶mhr XmoZ) : [10]

A) H¥$frMr AmXmZo Am{U àXmZo ¶m§Mo ì¶dñWmnZ

~) eoVH$ar CËnmXH$ H§$nÝ¶m

H$) amÁ¶ {dÎmr¶ ‘hm‘§S>i

S>) Am¡Úmo{JH$ H$m¶}j‘Vm

àíZ àíZ àíZ àíZ àíZ 3) A) eoVr ì¶dñWmnZmMm AW© Am{U CÔrï>ço ñnï> H$am. [8]

~) eoVr joÌmVrb YmoH$m Am{U A{ZpíMVVoMo ñdê$n ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) Am¡Úmo{JH$ {dÎmmMo ñÌmoV gm§Jm. [8]

~) Am¡Xçmo{JH$ CËnmXH$VVoda narUm‘ H$aUmao KQ>H$ ñnï> H$am. [7]





Q1) Attempt any five of the following [5 × 2 = 10]
a) Write the merits of peace time economics.
b) Write the merits of the war time economy.
c) State the concept of war finance.
d) Defme Super power countries.
e) State the role of the department of Defence production.
f) Define war time economy.

Q2) Attempt any four of the following [4 × 5 = 20]
a) Demerits of peace time economy
b) War potential
c) Arms production
d) Rationing
e) Military Production

Q3) Attempt any four of the following [4 × 5 = 20]
a) State the concept of Strategic Planning.
b) Explain the role of the department of defence expenditure.
c) Explain source of finance.
d) Explain third world countries’ meaning and concept.
e) Explain military industrialization.
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Q4) Attempt any two of the following [2 × 10 = 20]

a) Explain recent trends in defence expenditure.

b) Explain in detail the industrial power of India.

c) Explain in detail determinants of defence expenditure.

♦♦♦
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doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]
A) em§VVm H$mbrZ AW©ì`dñWoMo JwU {bhm.
~) ẁÕH$mbrZ AW©ì`dñWoMo JwU {bhm.
H$) dm°a \$m`ZmÝg g§H$ënZm gm§Jm.
S>) gwna nmda amï´>o ì`m»`m H$am.
B) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m gm§Jm.
\$) ẁÕH$mbrZ AW©ì`dñWm ì`m»`m Úm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]
A) em§VVm H$mbrZ AW©ì`dñWoMo Xmof
~) ẁÕ J{V_mZVm
H$) eñÌmñÌo CËnmXZ
S>) aoeqZJ
B) bîH$ar CËnmXZ

àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]
A) bîH$ar {Z`moOZaMr g§H$ënZm ñnï> H$am.
~) g§ajU IM© {d^mJmMr ŷ{_H$m ñnï> H$am.
H$) gmog© Am°\$ \$m`ZmÝg ñnï> H$am.
S>) {Vgè`m OJmVrb amï´> AW© Am{U g§H$ënZm ñnï> H$am.

B) bîH$ar Am¡ÚmoJrH$aU ñnï> H$am.

P.T.O.
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àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU IMm©Mo ZdrZ àdmh ñnï> H$am.

~) ^maVmMr Am¡Úmo{JH$ eŠVr g{dñVa ñnï> H$am.

H$) g§ajU IMm©Mo KQ>H$ g{dñVa ñnï> H$am.

♦♦♦



Q1) A) Fill in the blank with the most appropriate alternative (any Five) [5]
i) The oldest type of tourism is _________.

(Religious, Historical, Adventure.)
ii) Kaziranga national park is located in state of _______.

(Rajasthan, West Bengal, Assam)
iii) Tourism activity is an ________ generating activity.

(Income, Recreation, Travel)
iv) National Tourism Policty _____, is the first tourism policy of the

India. (1990,1982, 2002)
v) Eco tourism relates to ________.

(Economic system, Nature, F-commerce)
vi) WTTC means ______.

(World Travel and Travel Council, World Travel and Trade Council,
World Travel and Tourism Council)

B) Match the Pairs. [5]

A Group B Group

i) Kodaikanal a) Meghalaya

ii) Nainital, Mussoorie b) Jammu & Kashmir

iii) Darjeeling c) West Bengal

iv) Gulmarg d) Uttarakhand

v) Shillong e) Tamil Nadu

Total No. of Questions : 4]
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Q2) Write short notes. (Any Two) [10]

a) Significance of Tourism

b) Religious Tourism

c) Globalization and Tourism

d) Challenges before Indian Tourism Sector

Q3) a) What do you mean by tourism? Explain the types of Tourism. [8]

b) What is Agro Tourism? Explain the purpose of Agro Tourism. [7]

Q4) a) What are the employment opportunities in tourism in India? [8]

b) What are the economic impacts of tourism in India? [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]

i) n ©̀Q>Z gdm©V OwZm àH$ma ............ Amho. (Ym{_©H$, Eo{Vhm{gH$, gmhgr)

ii) H$mPra§Jm amï´>r` CÚmZ ......... amÁ`mV Amho. (amOñWmZ, n{ü_ ~§Jmb, Amgm_)

iii) n ©̀Q>Z joÌ ho ......... {Z_m©U H$aUmar {H«$`m Amho. (CËnÞ, _Zmoa§OZ, àdmg)

iv) amï´>r` n ©̀Q>Z YmoaU ......... ho ^maVmMo n{hbo n ©̀Q>Z YmoaU Amho.

(1990,1982, 2002)

v) BH$mo Qw>[aP_ .......... er g§~§{YV Amho. (Am{W©H$ àUmbr, {ZgJ©, B©-H$m°_g©)

vi) WTTC åhUOo .........

(OmJ{VH$ àdmg Am{U àdmg n[afX, OmJ{VH$ àdmg Am{U ì`mnma n[afX, OmJ{VH$
àdmg Am{U n ©̀Q>Z n[afX)

~) OmoS>çm Owidm. [5]

A JQ ~ JQ>

i) H$moS>mB©H$Zmb A) _oKmb`

ii) Z¡{ZVmb, _gwar ~) Oå_y Am{U H$mí_ra

iii) Xm{O©qbJ H$) n{ü_ ~§Jmb

iv) Jwb_J© S>) CÎmamI§S>

v) {ebm±J B©) Vm{_iZmSy>

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr 2) [10]
A) n ©̀Q>ZmMo _hÎd

~) Ym{_©H$ n`©Q>Z

H$) OmJ{VH$sH$aU Am{U n ©̀Q>Z

S>) ^maVr` n ©̀Q>Z joÌmnwT>rb AmìhmZo

àíZ àíZ àíZ àíZ àíZ 3) A) n ©̀Q>Z åhUOo H$m`? n ©̀Q>ZmMo àH$ma ñnï> H$am. [8]
~) H¥$fr n ©̀Q>Z åhUOo H$m`? H¥$fr n ©̀Q>ZmMm CÔoe ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVmV n ©̀Q>Z joÌmV amoOJmamÀ`m H$moUË`m g§Yr AmhoV? [8]
~) ^maVmVrb n ©̀Q>ZmMo Am{W©H$ n[aUm_ H$m` AmhoV? [7]





Q1) A) Fill in the blanks  : [5]
i) In SQL, Grant command is used to ________.

a) allow user to access databases
b) allow user to create databases
c) choose auditing for specific SQL commands
d) grant system privileges, roles, and object privileges to uses

and roles
ii) Operator ________ tests column for absence of data.

a) Null b) Exists Operator
c) NOT Operator d) ISNULL Operator

iii) _________ are a database feature that can automatically generate
unique numbers.
a) Synonyms b) Sequence
c) Index d) View

iv) In sql _______ is a virtual table based on the result-set of an SQL
statement
a) Synonyms b) Sequence
c) Index d) View

Total No. of Questions : 6]
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v) _______ is a single key or a group of multiple keys that uniquely
identify rows in a table.

a) Candidate key b) Super key

c) Unique key d) Null key

B) Answer the following Queries : [5]

Department table having following structure. (dept_No, dept_name,
location).

i) Create table Department.

ii) Display name of departments in uppercase located at Delhi in
descending order.

iii) Add new department information to department table.

iv) Change location of department No = 10 to pune.

v) Display the location of department that begin with ‘S’

Q2) Answer the following questions : [15]

a) What is data, information, field, record and file

b) Explain importance of DBMS?

c) What is RDBMS?

Q3) Answer the following questions : [15]

a) Write note on super key, candidate key, primary key, foreign key?

b) Write sql command syntax and example to create table?

c) How SQL commands are classified?

Q4) Answer the following questions : [15]

a) Write sql command syntax and example to Alter table?

b) Explain UPDATE command with syntax and example.

c) Write on unique and not null constraint?
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Q5) Answer the following questions : [15]
a) Explain Grant and Revoke commands of SQL.

b) Explain types of view?

c) Explain date time functions of SQL

Q6) Answer the following (any three) : [15]
a) What is sequence?

b) State different types of joins in SQL.

c) What are system privileges?

d) What is ODBC?





Q1) Fill in the blanks : [5 × 1 = 5]

a) _____________ is the component of Information system

a) Source b) Data

c) Product d) Strategy

b) The information of MIS comes from the boot_____ source.

a) External b) Superficial

c) Internal d) Examination Student Support

c) Full form of ESS is ________________

a) Essential Student System b) Executive Support System

c) Executive Sub System d) Examination Student Support

d) The decision support system is used only for ________

a) System Maintenance b) Planning

c) Support d) System Analysis

e) ERP is an _____________

a) Enterprise Resource Planning

b) Enterprise Research Product

c) Enterprise Research Process

d) Entrepreneur Resource Process

Total No. of Questions : 4]
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Q2) Write short note on the following (Any two):  [20]
a) Components of DSS
b) Need of MIS
c) Information System

Q3) Answer the following (Any Four): [20]
a) What is Information? Explain.
b) What is the scope define for ERP?
c) What are the major characteristics of Decision Support System?
d) Give any four benefits of ERP systems.
e) What is DSS? Explain.

Q4) Answer the following Question (Any One): [5]
a) What are the advantages of Executive Support System?
b) How Management Information System is useful for business organization?

Explain

JJJ



Total No. of Questions : 4]

 [Total No. of Pages : 2

[6315] - 219
S.Y. B.Com. (Vocational)

ADVERTISING AND MEDIA PLANNING
245 B: Advertising, Sales Promotion and Sales

Management-1
(CBCS) (2019 Pattern) (Semester - IV) (Paper - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

PC-1033

Q1) a) Fill in the blanks : [5]

i) The concept of marketing mix is first coined by

a) James Culliton b) Jerom Mc.Carthy

c) Philip Kotler d) Maslow

ii) In AIDAS, I stands for

a) Interest b) Image

c) Income d) Interview

iii) The strategy of using a name, logo, sign, symbol or design, etc. to
help consumers identify a product or service and also differentiate it
from competitors is called _______

a) Umbrella branding b) Branding

c) Méga branding d) Co-branding

iv) Face book, twitter, instagram .. .these are the examples of ______

a) Social media advertising b) Niche advertising

c) Cloud advertising d) None of the above

v) Promotion mix includes ________
a) Branding b) Advertising
c) Sales promotion d) All of the above

SEAT No. :

P.T.O.
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b) Match the following : [5]
A                                                         B

1) Marketing Mix a) Instagram

2) Brand b) Place mix

3) Social media c)  4 P’s

4) Storage and warehousing d) Sales Promotion

5) Free sample e) Cotton king
Q2) Short notes (any 2) : [10]

a) Digital Marketing Mix.

b) Elements of Promotion mix.

c) Brand positioning

Q3) Answer the following (Any 4) : [20]

a) What are the elements of product mix?

b) Write techniques of sales promotion.

c) Write a note on consumer thought process.

d) Write importance of marketing mix.

e) Write a note on impact of web advertising.

Q4) Answer the following question (Any one) : [10]

a) What do you mean by Branding? Discuss in detail functions of branding.

b) Write a detail note on recent media trends.

          
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Q1) A) Choose appropriate answer (Any Five) [5]
a) ________ is not a capital expense.

i) Establishment Expenses

ii) Commission Paid

iii) Installation expenditure

iv) Legal expenses for capital reduction

b) An individual involved in the profession with a gross receipt that
exceeds Rs. _______ during the previous year, is required to get
his accounts audited under IT Act.

i) 10 lakhs ii) 20 lakhs

iii) 30 lakhs iv) 50 lakhs

c) Regular assessment means assessment made under ________.

i) Section 143(3) ii) Section 144

iii) Section 145 iv) Section 145(3)

d) It is not mandatory for an assessee to file a return of loss if it
pertains to _______.

i) Loss from horseraces ii) Loss from house property

iii) Capital Loss iv) Business Loss

P.T.O.



2[6315]-220

e) Unabsorbed depreciation can be carried forward for set off
________.

i) For a period of 4 years only

ii) For a period of 8 years only

iii) For a period of 10 years only

iv) For an unlimited number of years

f) Advance tax is not payable if tax payable after considering TDS
and tax relief is less than ________.

i) Rs.1,000 ii) Rs.10,000

iii) Rs.25,000 iv) Rs.2,000

B) State whether the following statement is TRUE or FALSE (Any Five)[5]

a) A return of income when notified as defective, has to be rectified
within 40 days.

b) A Tax Audit is an examination and assessment of the books of
accounts of an organization carrying business or profession.

c) The books of accounts are to be kept and maintained for a period
of six years from the end of the relevant assessment year.

d) From tax point of view, a limited liability partnership (LLP) is treated
as General partnership firm.

e) In case of non-corporate taxpayer, Minimum Alternative Tax is levied
at 15% of adjusted total income.

f) If the AO has reason to believe that any income chargeable to tax
has escaped assessment for any assessment year, he may initiate
proceedings of Re-assessment.

Q2) Write Short Notes (Any Two)  [10]

a) Advance Payment of Tax

b) Tax Deducted at Source

c) Minimum Alternative Tax

d) Regular Assessment
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Q3) Solve the following Problem [15]

The Profit and Loss A/c of M/s ABC (Partnership Firm) for the year ended
31st March 2024 is as under:

Profit & Loss A/c

Particulars Rs. Particulars Rs.

To Remuneration By Gross Profit B/d 5,45,000

to partners 2,60,000 By Commission 12,000

To Trade expenses 36,000 By Interest on Govt.

To RDD 5,000 Securities 17,600

To Postage 6,600 By Sundry receipts 3,600

To Depreciation 16,800 By Long Term Capital Gain 14,800

To Rent of Building 60,000 By Interest on FD with banks 7,000

To Interest on Capital 35,600

To Net Profit C/d 1,80,000

6,00,000 6,00,000

Additional Information:

a) Depreciation allowable as per IT rules amounting to Rs.12,000.

b) Trade expenses including Rs.16,000 are disallowed as per IT provisions.

c) Interest on capital has been paid at 15% p.a. in accordance with the
terms of the partnership deed.

Calculate total income of the firm.
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Q4) Answer the following questions (Any Three) [15]

a) State the powers of Central Board of Direct Taxes (CBDT).

b) State the different types of return under the Income Tax Act.

c) Mr. Ajay estimated his income tax liability at Rs.1,30,000 including Health
and Education Cess for the year 2024-25. He also estimated his TDS at
Rs.20,000 for the said previous year. Find out the advance tax payable
by Mr. Ajay.

d) Explain in brief Penal Provisions under Income Tax law.

e) Write Note on Best Judgement Assessment


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Q1) a) Fill in the blanks : [5]

i) ______ tag is used to scroll piece of text or image on web page.

a) Scroll b) move

c) roll d) marquee

ii) _______ is relational operator in JavaScript

a) ++ b) >=

c) ! d) /

iii) _______ element is responsible for making the text bold in HTML

a) <i> b) <bd>

c) <b> d) <bl>

iv) ______ character is used to represent closing of a tag in HTML.

a) / b) !

c) | d) ?

v) A collection of elements of the same data type is called ______

a) String b) Array

c) Object d) Variable

SEAT No. :
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b) State whether the statement is True or False [5]

1) <marquee> tag is used to scroll text.

2) HTML tags with no content are called NULL tag.

3) H6 defines the least important heading in HTML heading tags.

4) In HTML <ol> tag is used to make a numbered list.

5) Array is used to store different types of elements.

Q2) Answer the following (Any Four) [20]

1) What is hyperlink? How hyperlink is created in HTML? Explain tag with
syntax and example.

2) Explain for loop in JavaScript with syntax and example.

3) Explain <font> tag in HTML with attributes.

4) Explain unordered list used in HTML with example.

5) Explain image tag with syntax and example.

Q3) Answer the following (Any Two) : [20]

1) What is Array? Explain Arrays in JavaScript with example.

2) Explain table tag in HTML. Explain <tr> and <td> tag with syntax and
example.

3) Explain frame tag used in HTML with syntax and example.

          



Q1) Fill in the blanks : [5]

i) In Introduction stage, cost of marketing is_______
a) very high b) very low
c) moderate d) not known

ii) The practice of promoting products and services those are eco friendly
known as
a) Idea generation b) Green Marketing
c) Marketing channels d) Lower pricing

iii) ______ are emotions behind purchase of products.
a) Buying motives b) Selling motives
c) Marketing decisions d) Bargaining motive

iv) This type of customer is very hard to handle.
a) Elderly b) Arrogant
c) Expert buyer d) Silent

v) The stages through which individual product develop over period of
time is known as _______
a) product life cycle
b) product like cycle
c) product development cycle
d) product image cycle
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B) Match the pairs: [5]
a) Primary Packaging i) Carton of papers
b) Secondary Packaging ii) Shampoo bottle
c) It is specific name, picture or design iii) Brand
d) Sales volume high iv) Buying motives
e) Safety and Security v) Growth stage

Q2) Write short note on (Any two):  [10]
a) Branding
b) Introduction stage in product life cycle
c) Rational buying motives
d) Green marketing

Q3) Answer the following (Any Four): [20]
a) Product life cycle
b) AIDA
c) Emotional buying motives
d) Patronage buying motives
e) Cloud marketing
f) Instagram as medium of promotion of products

Q4) Answer the following (Any One): [10]
a) State and Explain process of selling.
b) What do you mean by Marketing? Explain modem marketing concepts.
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Q1) A) Choose correct answer (Any Five) [5]
a) Annual audit report is required to be certified by practicing ____

i) CA ii) CMA
iii) CA or CMA iv) CA and CMA both

b) ______ is the time limit to pay the value of supply with taxes to
avail the input tax credit.
i) 180 days ii) 100 days
iii) 200 days iv) 30 days

c) Composition taxpayer is required to file return in Form no. _____.
i) GSTR-3 ii) GSTR-4
iii) GSTR-5 iv) GSTR-9C

d) Provisional Input tax credit can be utilized against _____.
i) Any Tax liability
ii) Self-Assessed Output Tax liability
iii) Interest and Penalty
iv) Fine

e) Tax invoice must be issued by ______.
i) Registered persons not paying tax under composition scheme
ii) Every supplier
iii) Every taxable person
iv) All the above

f) ______ of the immediately succeeding month is the due date for
submission of monthly GSTR-1.
i) on or before 15th day ii) on or before 17th day
iii) on or before 20th day iv) on or before 10th day

P.T.O.P.T.O.
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B) State whether the following statement is TRUE or FALSE (Any Five)[5]
a) Under the GST regime, the responsibility to compute the correct

output tax liability, eligible input tax credit and net tax liability lies
with the assessee.

b) The tax invoice should be issued within 30 days from the date of
supply of service.

c) The receipt voucher must contain the Details of goods or services.
d) The definition of Inputs does not include capital goods.
e) Payment made through challan will be credited to Electronic Cash

registers/ledgers.
f) A payment voucher need not be raised if the supplier is an

unregistered person.

Q2) Write short notes (Any Two) [10]
a) Compulsory Registration
b) Scrutiny Assessment
c) Contents of a tax invoice
d) Receipt Voucher under GST

Q3) Answer the following questions (Any Four) [20]
a) Which conditions to be fulfilled for entitlement of input tax credit?
b) What are the conditions applicable to Input service distributor to distribute

the credit?
c) Explain the conditions prescribed to avail the Input Tax Credit in relation

to documents?
d) What is the Procedure for filing of E-GST Returns.
e) What is the manner/order of utilization of input tax credit?
f) Explain in details electronic cash ledger and electronic credit ledger.

Q4) Answer Any One of the following questions. [10]
a) What are the different types of assessment under GST law.
b) Explain the provisions for transfer of credit on account of sale, merger

& amalgamation?




	6315-201 (PC-1017)
	6315-202 (PC-4836)
	6315-203 (PC-1018)
	6315-204 (PC-1019)
	6315-205 PC-1020
	6315-206 (PC-1021)
	6315-207 PC-1022
	6315-208 (PC-1023)
	6315-209 PC-1024
	6315-210 (PC-1025)
	6315-211 PC-4998
	6315-212 PC-1026
	6315-213 PC-1027
	6315-214 (PC-1028)
	6315-215 (PC-1029)
	6315-216 PC-1030
	6315-217 PC-1031
	6315-218 PC-1032
	6315-219 (PC-1033)
	6315-220 (PC-3688)
	6315-221 (PC-1034)
	6315-222 PC-1035
	6315-223 (PC-3689)

